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#H 0 LEahET
#145MDAR— )L #1953 = £ 13%3 | =

chi <- ¢ (26, 54)
chisq. test (chi)

#H

## Chi-squared test for given probabilities
#H

## data: chi

##% X-squared = 9.8, df = 1, p-value = 0. 001745

#75ADAR—)L 2 #5135 = &29%3| =

chi <- ¢(47,33)
chisq. test(chi)

i

## Chi-squared test for given probabilities
i

##% data: chi

## X-squared = 2.45, df =1, p-value = 0.1175

#163MMA—) L2 #3858 = E17%51 =

chi <- ¢(58,22)
chisaq. test (chi)

it

## Chi-squared test for given probabilities
#t

## data: chi

## X-squared = 16.2, df = 1, p-value = 5.699e-05

i #14,300BDF o - #2,145735] = 15%3) =

chi <- c¢(61,29)
chisg. test (chi)

##

## Chi-squared test for given probabilities
##

## data: chi

## X-squared = 6.05, df = 1, p-value = 0.01391

#15,100ADOF v b #4,077M5| & &£27%5|=

chi <- ¢(57,23)
chisg. test(chi)

##

## Chi-squared test for given probabilities
##

## data: chi

#t# X-squared = 14.45, df =1, p-value = 0.0001439

#14,700ADF 4y I~ #2,499M5| E £21%35| =

chi <~ ¢(29,51)
chisg. test(chi)

##

## Chi-squared test for given probabilities
##

##t data: chi

#ft X-squared = 6.05, df = 1, p-value = 0.01391
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#ENHD
145 DR —)LA2 #1951 & & 13%51 2 chi <- ¢12,28) chisg.test(chi)

chi <~ ¢(12.28)
chisqg. test (chi)

e

## Chi-squared test for given probabilities
izid

## data: chi

## X-squared = 6.4, df = 1, p-value = 0.01141
#175MDMAR—ILAZ, #51F15] & £29%51 2 chi <- ¢(25,15) chisq.test(chi)

chi <- ¢(25,15)
chisg. test (chi)

##

## Chi-squared test for given probabilities
##

#tt data: chi

## X-squared = 2.5 df = 1, p-value = 0.1138

#163MMM—)IL 2 #38F51E & 17%51 = chi <- ¢(32,8) chisq.test(chi)

chi <- ¢(32,8)
chisq. test (chi)

##

#i# Chi-squared test for given probabilities
##

#i# data: chi

## X-squared = 14.4, df = 1, p-value = 0.0001478

(ENH D] St

#14,300MDF v b #2,145M5| 2 £15%3| 2 chi <- ¢(27,13) chisq.test(chi)

chi <= ¢(27,13)
chisa. test(chi)

##

## Chi-squared test for given probabilities
##

##t data: chi

## X-squared = 4.9, df = 1, p-value = 0.02686
#15,100FDF 4w b #4,077F151 & &27%731 & chi <- ¢(26,14) chisq.test(chi)

chi <~ ¢(26, 14)
chisag. test(chi)

##

## Chi-squared test for given probabilities
#

## data: chi

#t#t X-squared = 3.6, df = 1, p-value = 0.05778

#14,700MDF 7w b #2,499M35| & £21%731 2 chi <- ¢(11,29) chisq.test(chi)

chi <= ¢(11,29)
chisq. test (chi)

##

#t Chi-squared test for given probabilities
##

## data: chi

#t X-squared = 8.1, df = 1, p-value = 0.004427
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#HEHDRL #14,300FDF 4y b #2,145M5] 2 & 15%51 2 chi <- ¢(24,16) chisq.test(chi)

#145FDAR—) L2 #19F151 & £13%35] & chi <- ¢(14,26) chisg.test(chi)

chi <- c(14, 26)
chisg. test (chi)

#i#t

## Chi-squared test for given probabilities
##

## data: chi

## X-squared = 3.6, df = 1, p-value = 0.05778

#175ADR— LS #51M3] & £29%3| & chi <- ¢(22,18) chisg.test(chi)

chi <- ¢(22,18)
chisg. test (chi)

##

## Chi-sguared test for given probabilities
##

##% data: chi

## X-squared = 0.4, df = 1, p-value = 0.5271
#163AMA—IL R, #38M5] & & 17%51 2 chi <- ¢(26,14) chisqg.test(chi)

chi <- ¢(26.14)
chisa. test (chi)

#h

#i#t Chi-squared test for given probabilities
##

## data: chi

f#t#t X-squared = 3.6, df = 1, p-value = 0.05778

chi <- c(24,16)
chisq. test (chi)

#H

#*% Chi-sguared test for given probabilities
#4

## data: chi

fit X-squared = 1.6, df = 1, p-value = 0 2059

#15,100FDF 4w I~ #4,077F51 & £27%5| 2 chi <- ¢(31,9) chisq.test(chi)

chi <= ¢(31,9)
chisg. test(chi)

#t

##t Chi-squared test for given probabilities

##

#it data: chi

## X-squared = 12.1, df = 1, p-value = 0.0005042

#14, T00MDF4ry b~ #2,499[5| = £21%3| = chi <- ¢(18,22) chisg.test(chi)

chi <~ ¢(18,22)
chisq. test (chi)

##

## Chi-squared test for given probabilities
##

#itt data: chi

## X-squared = 0.4, df = 1, p-value = 0.5271
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